Z:(2000) Ab3IoHEHI 2h:(2300) Atz 2 &I 8h:(2340) FQIMEXR HIgh:(2341) F=QlMg MIAIEE: (120) Z&X AL [FoMETAD] (23]
ni; = Jl & bl w
Of & o4 &t = pl ES
.2 g ME A = Of &b oM s A &
2000
A3 JHEHH| 4,186,574 0 4,186,574 [ 1,273,404 & 419,340 Al 2,405,302 = 88,528 |
2300
AMS| B & 4,186,574 0 4,186,574 [= 1,273,404 & 419,340 Al 2,405,302 = 88,528 ]
2340
Z 0| ET| S 4,186,574 0 4,186,574 [= 1,273,404 & 419,340 Al 2,405,302 = 88,528 ]
2341
EPUET 4,060,187 0 4,060,187 [= 1,273,404 & 419,340 Al 2,278,915 =& 88,528 ]
100
a0l &t 74,580 0 74,580
120
da X8| 74,580 0 74,580
201
22| 24,818 0 24,818
24,818 0 24,818 |01 Zer2AEH|
OFN24 J12Z&Hl 8,978
@ == H| 50,000& X15EX7&X95/100 = 4,988
[ F=g=is] 40,0002 X15HX7&X95/100 = 3,990
O=AIl Xtz 120,000 X7& = 840
ORIZt?E 2HI|E Ot T/FE 29 4,200
0?3 FA+E 70,0003X5HX43| = 1,400
OUERAE BN &4 K&l 1,000,000& X1 = 1,000
QLIHRAEZEH NSE &2t 18,000&X100% = 1,800
OAM3=X2 2Y EIIA|+(D BHAY)
70,0003 X5F XM X2 = 6,300
OAZ=X(a)2 T2 SABH1(W HE)
40,000,000 X15%X3/4 = 4,500
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Z:(2000) Ab3IoHEHI 2h:(2300) Atz 2 &I 8h:(2340) FQIMEXR HIgh:(2341) F=QlMg MIAIEE: (120) Z&X AL [FoMETAD] (23]
ni; = Jl & bl w
Of & o4 &t = pl ES
.2 S MEL AL 5 Of & o4 s A &
@°! 2] = 7,012
@ =3t = 2,450
200
AFSL O] AF 3,985,607 0 3,985,607 [= 1,273,404 & 419,340 Al 2,204,335 = 88,528 ]
210
H XA 2,124,020 0 2,124,020 [= 1,273,404 & 419,340 Al 431,276 = 0]
307
gIz2tol ™ 2,124,020 0 2,124,020
280,000 0 280,000 |02 2I2tAAE X
OAtZI=X2 JIsE22H(L HAE) = 280,000
(=) 140,000
(Al 140,000
1,844,020 0 1,844,020 |05 2I2tRIE S

OXNIASAIZEAAH 2H (0 HE) = 9,675
(=) 3,870
(Al 5,805
OXJASA 4oHEE Jtl(D &) = 14,184
(=) 2,092
(%) 1,046
(Al 11,046
OXI A2 I A S AAY = 1,806,157
(=) 1,264,310
(&) 270,923
(Al 270,924
OZCIUIOIH XI& A 14,004




Z:(2000) AFSIIHEHHI 2300) Atz 2 & H| &t:(2340) HNIgE:(2341) Z=0lME MIAISt: (210) [FolMsET2 [CHelH2]
ni: = J| mi
ol & oH At =
A 2.8t NIE MIMIE =2 Ol s A 2
(2) 7,002
(%) 3,501
(Al 3,501
@)= 2CIHI0IH 1,351,000 X 1&X62 8,106
(2) 4,053
() 2,027
(Al) 2,026
@®0D/B 2CIUI0IFH 983,000 X1HX6Y = 5,898
(2) 2,949
(%) 1,474
(Al) 1,475
220
KR AL 1,861,587 1,861,587 [= 0 & 1,773,059 = 88,528 |
307
oI2t0| M 1,859,331 1,859,331
1,859,331 1,859,331/05 QIZtREZ

OAMI2X2A2LETHIII=ZXIZ A &)
217,556
(Al) 195,116
() 22,440
ONEAME 2SH|(DF B 88,055
@22 12,928
@0 2| 64,447
@ At H| 10,680
O=X 32 29H|( #HH) 656,653




Z:(2000) AFSIOH U] 2+:(2300) AtSI2&HI 8h:(2340) FOIMEXA Mgt (2341) F0lM& HIAIE: (220) XEXIAHES [FOIMET D] (o2 &&]
It = pJ 3 HI mi
of A o o = ) =
I BHEHIE KM E = of & o = A2
QL E=X5 2 255,962
@ A=K 212,802
[ YN R 124,002
OLUEES (L) 63,797
OXIS bl oI/ 2! (Bt 42,000
o=t 20,400
@02t 21,600
OABI=X 2 2SS X2 (D & 855,067
788,979
66,088
OAS=X 2 2 (6IHA) 757,567
712,727
44,840
O AKX S42R4Y 97,500
76,252
21,248
2,256
0,256/01 Ktat & SEFSH|
OXHAt U SZ 3 S| 2,256
@2 A HIEH| 888
CPSIE 485
( JPNEENES 333
L EETERS] 380




Z:(2000) Ab3IIOHEHI 8h:(2340) Mgt (2341) F0lM& HIAIE:(220) KERIAF [F=0I 5 [Shel: & & ]
It imi
Ao o x
B NIE K HIE = = A
@I 170
2343
ZMSERY 126,387 126,387
100
240 4t 122,387 122,387
110
0I21H| 5,000 5,000
5,000 5,000
5,000 5,000/ 08 JIEHE 24
OTMS ST S (Y| H 5,000
120
24X A 117,387 117,387
201
ustey 64,547 64,547
21,132 21,132/01 Ler2ay|
OBMSIEMHH 2 13,498
®)|=2| 4,268
SCEIES=Ti] 2,000
-2l 2,268
ezz=e3 500,000 X7 3,500
o=/ AxE 120,00020X78 = 840
O MSIEHO S ALY 70,00021X13&X13] 910
O MSISARHO G AL 70,00021X724X23] 980
O MSIEEOE L ALHOS AT RS M|
500,0002X33] 1,500




Z:(2000) Ab3IoHEHI 2h:(2300) Atz 2 &I 8h:(2340) Fol MBI Mg (2343) BMEERY MIAIE:(120) Z&= Y] [FOMETAD] [ ]
) = | 2|yl D
ol & o at = ;) =
X .2E NS NS = T N
@Sy 2t T} 1Y 5,000&X100&X3=2 = 1,500
OBMSE 222 RIE(D #) = 4,634
OBMSE AT DI ME (Y HH)
5,0002/X400% = 2,000
ORl43 BYSISER =8 SAHI(D #132)
5,000& X5 X400 = 1,000
43,415 0 43,415]02 @A+Z I
ORI4E BASIE SR(D ¥ ) 36,415
@t E 2 TI| Yt 20,000,000&X14l = 20,000
QUL MNHSF P Y 2,000,000& X141 = 2,000
Q@HLA EAHZ 500,000& X3HEHAMI = 1,500
@02 B0 N 50,0002 X400 4 = 2,000
L R TR 3,000,00020X 1704 = 3,000
O=EZ M 500&X3,000% = 1,500
QAAESE IS MEH 1,000&X4,000% = 4,000
ONANT BE 415
=P\ 3,500&X100 = 350
-7 650& X100 = 65
OGN TRRE MM 2
100,000 X5E X4 F = = 2,000
O=.ZIIE BMSSER &IHD #132) 7,000
O=SEFA X 5,000,000& X144 = 5,000
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Z:(2000) Ab3IoHEHI 2h:(2300) Atz 2 &I 8h:(2340) FQIMEXR HIgh:(2343) BAMEIE2H MIAIEE: (120) Z&X AL [FOMETAD] [ ]
o = | 2|yl D
ol Ao & 2 | S
X .2E NS NS = S -
024z = 1,300
o=t = 650
307
gIz2hol 19,000 0 19,000
19,000 0 19,000 |02 QI2tBAE X
ONTIE E28 D 2| X2A(D HY)
,000,000&X7HEHH = 14,000
OBMSIE RaS0l2 HAZS
500,0002IX 1004 = 5,000
200
AL 0l &1 4,000 0 4,000
220
X ALY 4,000 0 4,000
405
N tt] 4,000 0 4,000
4,000 0 4,000|01 tet Y =S SFFHS
OBMSISHME DIFY P 4,000
QLIZHNE 3,000,000&X1CH = 3,000
@2 AoH(A T R) 1,000,0002X1CH = 1,000
3000
24 H o 2 1,935,691 2,014,444 A78,753
3200
NS DN R=ga] 1,935,691 2,014,444 AT8,753
3210
NS Ry 1,935,691 2,014,444 AT78,753
3213
NEOHE 1,935,691 2,014,444 ANT8,753
\




Z:(3000) A MIJHEH 2+:(3200) XIS A MIOHEH| &+:(3210) KIS ZHMIIHE MIgt:(3213) DEoHA MIAIE: (110) el24H] [FolMET20] [S2: ]
nj; = Dl X & iml
0f &b o At = J| =
&2 g Mg AAE = Of &b o4 s A &
100
A0l A 1,778,731 1,857,484 NT78,753
110
ol H| 1,736,481 1,831,584 95,103
101
oI H| 1,736,481 1,831,584 95,103
1,736,481 1,831,584 A95,103| 10 LAIAIS QIR 2!
OolAHHl & FHAEbI
23X (1,736,481,000&)-J1&(1,831,584,000&) = A95,103
[&8 & [ O & ] [ = 2]
() 300,512 - 300,512 = 0
(Al 1,202,048 - 1,202,048 = 0
(2) 233,921 - 329,024 = 295,103
120
AR AY| 42,250 25,900 16,350
201
UBt2 A Y| 23,250 22,900 350
20,950 20,600 35001 LEr2YH|
OINE=EIS AIY Ao 294
70,0002 X5%HX13] = 350
307
QI2t0| & 16,000 0 16,000
16,000 0 16,000 |02 QI2tAAB X
OFAE NEMEBZ2 0 O X X
50,000 X608 X228 = 6,000
O4H.8H 2 =S olaAA ALY X2
10,000,000 X1H A = 10,000




X:(3000) ZHONLH  B:(3200) KSBHMeLH| 5:(3210) XSBH N Mg (3213) DO HAE: (110) 212tt] FoMETRD] (9 EE)
i = bl P H ml
Of & o Ao = | =
P =T | =T W k=l = Of & o4 s A &
= N B A 6.122.265 2,014,444 4,107,821

- N




